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TER165E38 12,310 6, 303 6, 007 90 59 31 172 146 26
ER1TE3AR 11, 903 6, 094 5, 809 90 60 30 161 131 30
X o ™ 4,719 2, 391 2,328 29 22 Ji 85 12 13
A K ™ 1,049 546 503 13 7 6 10 7 3
=N S ] 841 425 416 25 15 10 2 1 1
H H T 792 407 385 9 5 4 5 3 2
= B ™ 853 436 417 - - - 15 12 3
B # 384 192 192 1 - 1 5 5 -
EFAR W 197 103 94 1 1 - 6 3 3
(il BH ™ 223 129 94 1 1 - 3 3 -
£%=H T 219 112 107 1 1 - 2 1 1
¥ OFE m 217 120 97 1 1 - 5 5 -
F & ™ 637 317 320 7 6 1 2 2 -
E&XEH ™ 394 200 194 1 1 - 6 6 -
x B 10 7 s - -
E R H 37 23 14 - - - - - -
e B # 33 15 18 - - - - - -
E ® H 132 66 66 - - - - - -
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